
𝑥 𝑖𝑛𝑡 = (2,0) , (6,0)

       𝑥 = 2
    −2    − 2
𝑥 − 2 = 0

        𝑥 = 6
     −6    − 6
𝑥 − 6 = 0

Write down the x values.

Add or subtract to both 
sides to make =  0

𝑦 = (𝑥 − 2)(𝑥 − 6)

𝑦 = 𝑥ଶ − 8𝑥 + 12

Factored Form
Standard Form

𝑥 𝑖𝑛𝑡 = ൬
1

2
⎯⎯, 0൰ , (4, 0)

          𝑥 =
1

2
⎯⎯  

   2 × 𝑥 =
1

2
⎯⎯× 2

        2𝑥 = 1
      −1      − 1
2𝑥 − 1 = 0

        𝑥 = 4
     −4   − 4
𝑥 − 4 = 0

𝑦 = (2𝑥 − 1)(𝑥 − 4)
𝑦 = 2𝑥ଶ − 9𝑥 + 4

𝑥 𝑖𝑛𝑡 = ൬
1

2
⎯⎯, 0൰ , (4, 0)

  

        𝑥 =
1

2
⎯⎯  

   −
1

2
⎯⎯     −

1

2
⎯⎯

𝑥 −
1

2
⎯⎯= 0

        𝑥 = 4
     −4   − 4
𝑥 − 4 = 0

𝑦 = ൬𝑥 −
1

2
⎯⎯൰ (𝑥 − 4)

𝑦 = 𝑥ଶ − 4𝑥 −
1

2
⎯⎯𝑥 + 2

𝑦 = 𝑥ଶ −
9

2
⎯⎯𝑥 + 2

Notice: two different graphs in standard form can have the same x-intercepts.

𝑦 = 2𝑥ଶ − 9𝑥 + 4
0 = 2𝑥ଶ − 9𝑥 + 4

𝑦 = 𝑥ଶ −
9

2
⎯⎯𝑥 + 2

0 = 𝑥ଶ −
9

2
⎯⎯𝑥 + 2

Multiply and Add or 
subtract to both sides to 
make =  0
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𝐹𝑖𝑛𝑑 𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛 𝑖𝑛 𝑆𝑡𝑎𝑛𝑑𝑎𝑟𝑑 𝐹𝑜𝑟𝑚 𝑢𝑠𝑖𝑛𝑔 𝑥 − 𝑖𝑛𝑡𝑒𝑟𝑐𝑒𝑝𝑡𝑠 𝑎𝑛𝑑 "𝑎"

𝑥 − 𝑖𝑛𝑡 = 2 𝑎𝑛𝑑 6
𝑎 = 1

𝑦 = 𝑎(𝑥 + #)(𝑥 + #)
𝑦 = 1(𝑥 − 2)(𝑥 − 6)
𝑦 = (𝑥 − 2)(𝑥 − 6)
𝑦 = 𝑥ଶ − 8𝑥 + 12

𝑥 − 𝑖𝑛𝑡 = 2 𝑎𝑛𝑑 − 2
𝑎 = 2

𝑦 = 𝑎(𝑥 + #)(𝑥 + #)
𝑦 = 2(𝑥 − 2)(𝑥 + 2)
𝑦 = 2(𝑥ଶ + 2𝑥 − 2𝑥 − 4)
𝑦 = 2(𝑥ଶ − 4)
𝑦 = 2𝑥ଶ − 8

       𝑥 = 2
−2   − 2
𝑥 − 2 = 0

       𝑥 = 6
−6   − 6
𝑥 − 6 = 0

      𝑥 = −2
+2     + 2
𝑥 + 2 = 0

𝑥 − 𝑖𝑛𝑡 =
3

2
⎯⎯𝑎𝑛𝑑 −

7

2
⎯⎯           𝑥 =

3

2
⎯⎯

   2 × 𝑥 =
3

2
⎯⎯× 2

        2𝑥 = 3
      −3     − 3
2𝑥 − 3 = 0

          𝑥 = −
7

2
⎯⎯

   2 × 𝑥 =
3

2
⎯⎯× 2

        2𝑥 = −7
     +7    + 7
2𝑥 + 7 = 0

𝑦 = 𝑎(𝑥 + #)(𝑥 + #)
𝑦 = (2𝑥 − 3)(2𝑥 + 7)
𝑦 = 4𝑥ଶ + 14𝑥 − 6𝑥 − 21
𝑦 = 4𝑥ଶ + 8𝑥 − 21

𝑆𝑒𝑡 𝑥 − 𝑖𝑛𝑡 = # 𝑎𝑛𝑑 𝑚𝑎𝑘𝑒 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 𝑧𝑒𝑟𝑜

𝑊𝑟𝑖𝑡𝑒 𝐹𝑎𝑐𝑡𝑜𝑟𝑒𝑑 𝐹𝑜𝑟𝑚
𝑆𝑢𝑏𝑠𝑡𝑖𝑡𝑢𝑡𝑒 𝐹𝑎𝑐𝑡𝑜𝑟𝑠

𝐹𝑜𝑖𝑙

       𝑥 = 2
−2   − 2
𝑥 − 2 = 0

𝑥 − 𝑖𝑛𝑡 = −1 𝑎𝑛𝑑 3
(2, −6)

   𝑦 = 𝑎(𝑥 + 1)(𝑥 − 3)
−6 = 𝑎(2 + 1)(2 − 3)
−6 = 𝑎(3)(−1)
−6 = −3𝑎
   𝑎 = 2

   𝑦 = 2(𝑥 + 1)(𝑥 − 3)

𝑦 = 𝑎(𝑥 + #)(𝑥 + #)
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